Solutions to Quiz 3

Figure 1 &9 %/ A O8O — LT, MBEZBETEM3ET (A,B,C) D, ZO—D ALK
EEDHLD 6 KOMBHB TS REVIHICHEN TV 2, MBEOBEIX1HIC>E 1/, Mo L
W XD/ S ML #E %\ &%, (Consider the Hanoi’s Tower with 6 disks as in Figure 1.)
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V3, (Explain that all 6 disks can be moved to C' with 63 moves to a person who can move 5
disks from one place to the other without difficulty in 31 moves.)
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Move 5 small disks on A to B. (Figure 1) This is possible by 31 moves. Then move the
largest from A to C by one move. Finally move 5 disks on B to C by 31 moves. (Figure
6) This is possible as these five disks are smaller than the one on C. Altogether it requires
31414 31 = 63 moves.

2. Figures 2, 3 13 A IZH o7 6 KOHMEEZ B /13 C KIRAFHTEHILTV3EHTH
%, TNEFN, ETICBET @M L, ROBEH L, RDTFHTIEDH &MEOBELIED
%% 2 &, (We are in the process of moving 6 disks from A to B or C with minimal number
of steps. Answer the following in each case.) W% b DIZAZ L, THICEZEZ AL,
(Encircle the appropriate choices and fill the number in blank.)

(a) Figure 2. A:6, B:5,4,3, C:2,1
@) (Move to) © B RDEH) (Next move) ,1—B,or3— A.

BEn% (How many moves left?) : 35 [
(b) Figure 3. A:6,1, B:4,3, C:5,2
%HEJ: (Move to) : C  XDOBH) (Next move) i1 — B, |1 — C| or2 — B.

BBn% (How many moves left?) : 45 [A]
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